a @ ot
@ begun  made
(5) soon
5. (Duuncionsd  (2) festened
i ik cpropray i h i | (3 ) cooked
word/phr (5) bl
A mobile. phnnz is no (I\ a simple device to make LA L2
il ) e e ol o v o | D @y
browing 1 paying. bils |, (000 o
Banks may v b de o |7 () 078 {7 Fes
i et ot his echnoloical poo, bt lecom )
c up. The RBI's step o s )
e R ) s
abile tunsactons has Aded. e much: i
aceded (6 9 mobile ankin. smd,vmmg.;a?ggm, s
Mobile _banking (1) you to t al py  (3)fuclitated (@) attempts
nomi Ml s re s SO
ch Nt banking, Baks are 0o | 10, (1) expensive (@) there
cvoling tis uelty 5o they Touseh imovakve | ' (3) oy ey

products. For (8), a Bank’s cashto- mobile service (9)

customers {0 transfer money o anybods
who do not have a_bank accour
customer can download the bak’s application on his
ber of the person

the remitter and the

S

- question below has two

st s Mk st at sovening K beon

omited Choose the st of words fo cach blank which

est e he meaning of th senence as a whoe.

s, the dengue ... has put
outhern disricts on high alert and has been keeping

ol adminisirations an e beath deprment 01

T L R TR s
L e R s
o e s s e
Dl ™ AT
G =
Ul T
Bl e O pn e
B B b
L D EE e

(5)pick.

Ol kg 1) s g



(3)seized — innovating (4) caught - dealing Certain words! group of words have been printed in
.

Soz s hom il v s
e R |
in judicial custody Unemployment is the problem of every modem
(1) demanded — persua ‘ nation. Even industrialized nations are not able to
Gy Koot oo ol e oot
i s e e
e
e L e v, b ofeng 2
Aottty b | o ey e o o e
sek v | R
Qaca o=l | i
A, sl pit o

5

Directions (16-25) : Read each sentence to find out
whether there i any grammatical error or idiomaic
errorinit. The error, ifany, will be in one part of te
sentence. The mumber of that part i the answer. If
e Moo o 0

punctuation, i an

‘whatever cmployment benefit industrial employmeat
brings. In sddition, they don't bring as substanial

ey scem to promise, as the profits of such, foreign

L W ommamstive | S s e W € SRS e
o coutmed e s bl abrSel) | S5y o e s T
g et e 4 e | problem i that seemployment i ot 33 bviusly

s At 3 iy new factory. Bu profs fom

Tibmwdgh ) sy 1o i) el ol 1 et thy

s e, o) & ‘g”"ﬁﬂm Tt i o sl et cvironmeral

s, (1 No aor ) kot poa pesen inchargs o is o

The gang members has/(1) confissed that they had \ er own working hours and conditions, The hours are

e C S U e i
becnl(2) G bk o m iy No cor. | allows peaple 10 choac betveen raning 3

e orp  wop

4 o my

e o s o e (6 O omment i o ade or anyoe who 1

e e ottt curcy | shcsoman and s many sequired and b

notes Iooked/(2) 50 gcnumn ) amone could ral 1, By than leaming acauired from

. Toaking or(1) 2 has) ‘

meeting.(4) No error (5) e sl gt mpluym:nl s

never been an casy job. (4) No eror (5) to run their own show.

One could nov(1) imagine striking/(2) this kind of a Financing the poor to start their own lile ventures
bargain/(3) last year o the year eary.(4) No eror (5) e B v of pride and selfrespect. I offers
v shanven, and(): the i ‘way out of welfare dependency, not jus to become

T e s & e on many | wags v, b 10 opn & sife or st &
faces.(4) No error (5) | g business. It can help those who have
: pes s o
b s of some ey | i o pefudce who would ot b ired e
nmrmbmgmm,mnummmmg i o s g s e &
S | ey
D e i o i vy o e e et ceing

Rl




industry based employment. It sl ol poor | 32. Which of the folloing s a s
| 3 foreign

people gain sel. confidence, step ivesncns i ot scengien e econonies o o

Obvionsy e caploymant b i bt iy | Savaes

s It nly st (o bl o whom | () The parnt copany e all e rf s o

economies efus o hire and taspayers do ot want 1o

aty o e shoulder. The poy necdd for e | (2 The ol ofsch nepries does ot e

eradication of poverty must be much widerand decper e host rtion; aher 1 goes back t the share

policy or thep |

T ol S Je | ()The cmployees of the parent company demand

areale o contl thei v ;ﬁ,mmﬁ'{ke | gy fom st companiscm fom

faciories in another
(4) The profit camed by such enterprises s 100 less t0
provide for- anything beyond the  salaries of

bonai . When you plant the e

talet e, only inches tall. Thefe is nohing wiong

Vil ey pmeony b | SN
e e bl o el Thre |y, NI
e e

melem e oo Al s wpabe | (0TS @

pomwn,.co. S o |

s el e M

S ot v et | T i s e

ey e sclf-employment has over industry based employment?

of wor
s s W oA POTTR NEANING 1o e |

(B)Stating one’s own venture is an casy ask and
word/ group of words printed in bold as used in the | 5
passage

y

needs D0 nvesiment a5 fnancrs are readily
wailable.

studymatenadsudrmpmymcm makes one a master of other

RIGID
() Unstructured (2) Flexible 1 people and ths Satisfis thei nced 1o contol
3)Soft (&) Gentle others,

& caim Lot (1)0nly(©) @o

STEP-BY-STEP ) Only (B) & oy &y sma

(S)AIL(A), (B) and (C)
35 Which of the following may be inferred about
sof-

(1) Allatonce Q) In quick succession |
S yment?

(3)lInslow motion  (4) In  nutshel
(5)Onee and for all

P NG , (A)Seifemployment slowly but steadly strngthens

(1): Smlmg (2) Permitting j - i it

) Rohusing @ Prowstng (®)Se-employment checks unemployment,

© Queiiosng (©)As a staegy of providing. employment, slf-

Joyment
wru(h is MﬂSTslMllAll in MEAIVI’MG 10 the word | (1) Only(B) (2) Only (B) and (C)
pku in bold as used in the passage. (3)Only (A) (4) Only (A) and (B)
REMAIN : (5)0nly () and (€)

(Leporee @ sy | 6. What does the uthr idicat by he crample of &

(3) Stagnate (4) Continue ‘bonsai tree?

() Linger (A)When provided the right kind of financial help,
. HIRED poor peaple can flourish,

(1) Allowed () Reniea )Th poorprple r s capabe s the weodo

@ uorscs ) Employed

(5) Delegat {Ly(‘nnv:mmml (!ndumm) cemployment can help
. v | e poorpopic e el om e

(i) Masimum @ Finish o 2) Only

O)Cap ) Decreuse Br0u Rt @ B oy ) a0

(5)Barier (5)Only (B) and (C)



T L AT R
a7 The suthr clims it weifcmployment is | - (1)isan cxcelience way of

T o st ik Wi | 2 (i SO o
P olowing e the qualiisofsuch people? g;)n ol oy of
e an uncomveational spprosch o a arecxcclent
e Sl b et :
S | & fncss group needs o reform ot iy
mm‘“ i | m..m " marketing straiegies, but also s
\\) @) Only (©) | i
umn\ymx and(©) () Only (A)and (©) | u\ cvjﬂdww' ol
(510013 ®) e ning
sn. Yo o e v ouvils e coploymen | it ey

orsin

o e o | 45, 1cmum‘gcdmmmmmmmumimnwmerwmch
L oiin i ad not been issued 1o him.

@) They emp | 5 y
o i o st |

joyed {2 had notbeing issued t©
e ev::d& ey e that could be  source of ‘ ‘5»« i bs’:s::f b
mmy M\\Mm ,.mmm thathave no market in | I:‘V::n‘;mzl;q = e
2 el s b eeined Which o he
words

)

m.. "proving enploment o host nations

m e v e meaning o the

. Whlchoﬁm following may be an appropriate il for | e phrase , as used in e somnse 1 e of
Wi ,,A,; aierdle g o b o e s
0 Atressing  conventonal  employmen ik [gtg;hlavmw lon of these

developed nations 44, The old woman Tt oo et s b i
() Varied stategies and approaches o eradicating
|

back.
poverty Okt i his presen
(3)Limitations of indusrial employment 3)in anyone’s bsence 1 cvepons's presence

mnnuwmump\nynm.mmum,....empmww |
and eradica

4 Foms cled o ol out differences and bring.
1 between conliting points o

o pris
10, Wi e ollowing s TRUE s perhepassage? | (et faa
S enpomens el ou o dveoping | e e
IS S s 53| ons G630 ¢ s b o ¢
ot () ey e i e[ R ) ), 3,0, 0, 6 wi 0 s o7
el o of e scquer o form 3 me an
e e haics produce s much toxie | 4% s b s gt
St ig s | 0w o hese sy, he promees o
(5)None i e g e o canséd
Directons G148 < Whichofhephriss (1,0 ) ) |
8y bk uchsnenc shod eplacehe | (B m«ms\, sroving badh;\c s highc
st pitd i bold i th seince o ey D et xpansion. and focus on fnania
B e e e e scorcasit | dsen bave Sonpbs king Tndien
K gheond o o s redved: mirk (98 Fankng viban and s
hea | ©Howors, it ol i chaos Todi's banking
. mm.n..g 400 i are an excellnt way of o s been amongst the fow 10 maniain
e o daily livng. Tesience.

BTG e L E s el



s1

s

(D)indian banks have already begun 1o revise their | (1)E @F
‘growth approach 10 take advantage of these new @D @c
opportunities, ©)a
(®ln the recent times the world cconomy has | 48. Which of the following should be the THIRD
cangement ?
of these being collapse of banking & financial nme @A
institutions. OF @D
(F)The way forward for the Indian banks is 0| (5)B
innovate 10 take advantage of the new business | 49, Which of e muaw.,.pvmumbm.uum:xm;
Joportuniies and at the same fime enswre | sniencealrthe
mtinious assessment of risks B @b
. Which of e fnllawmg smum be the FOURTH oe @E
sentence afer the rearangem
« B s0. Whmlmﬁhe {allvwmg should be the FIRST senience
@D @F the
5) @F
. Which of the following should b the SECOND Be @E
sentence aferthe rearrangem $A

Divections (S1-59) : What should come in place of | §7. Which ofthe following is the largest? (You ar not
question
PR B muivx 19+ 47 @)@ x 72) 4 6
7 XM F O s
misss @159 smd,vmazgnalsmz 26
@ 152 Whih o e following i the e e
“7“""501 fheee, S eted o caleulate the exact value)

. (5508 + 81 +02 x 9t = o

(©49)*x 0343)" + 02401)°
m3 @1

@1 @7
(5)None of these.

5% 0f 2025+ 001 = () x 25

m3 @@

@81 @9

12

i ofthe lloving i second st
(1)1386—

m!(ﬂ—xmstl‘ﬁg

Oml-sec 156

@36

213+
(5130 461+ i85

m[ amsu] m(, mm]

02 ot322 @ (15 otar

o2 ) 2)
SR

(2 ot

[ otss)

5. The cost of & dozen of cges is € 256
alculion s needed i h con of 3 o
(DE 250 <3< 12)

Which

o 2ot s K"/.nlmnlppmﬂmlkiymumn)f
3 @4

@8 &
@5
iections (61:68) : What will come in plce of
o Pl e
61 123 669
17 @7
@ 1169

(5) None of these.
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Cases 407 aees w1 amastr | Amlsmm is three times Pratibha’s present
mm @319 i thimeenth o i futhr's resent age. The
(yNone these What e iffrncebeveen Prasbha's prscn g
2 506 1574 am 7 and Ami's fther's present age ?
nmene B
gua, o ® 6166 o) (& Camnotbe detemined
) None of hese &) None ftss
614 3w 7 | 24, Wt el you i ity v percnt of
(n34 . @33 2145 is subtracted from four-ninth of square of 36
308 @307 | -1
(5) None of these R | unx @-9
¢ ©)
@748 | e go s oty nrmentof 12 prent orpus
. @m iy Saary. Pujs monhly
Varun's. monihly salary before_increment
:.«;m., (sah:md-,ln the fv:!’n:mx e o o \ 6400/-. What amount will he carn in four months after
arons mumbered 1 and Il ar given (s
o the equations and— ‘ ()T 29344/ 20434
@284 @ %24
@2y (5)None of these
Wiy | D cesneignsla st b
consists of ments
3 and 1 given below it m pe s uhymm,
& | Gt provided in he statements are suficient 1o
n i Read b
% 2 ‘rg Giveanswer (1)if the data in Statément 1 alane are
cen o answer the quesion, whie
1L 3(eesy)=48) e dta i Sutement 1 slone are not
i iy =20 e
1 392 +4196+(5) +45 ‘ o i St 1 sl e ot
I g | uffcentfo awer the queton
f Give v (911 d e St e
I ‘ stement I1 alone are suffcient
o answerthe queston.
. A man sells caleulator at the rat of T 250/- cach
e e e R s B e o
of profit will he earn in 19 days if he sclls seven 2 n"' ot sufficient (o snavecs
calculators per day pes
(T 4665/- @ 2as65h- Giveanswer(5) it i both e S Land 11
@Tasist @ Tasss- ogsther are o answr the
(5) None of these. ‘question.
76, What is the minimum pasing percenage in 8 &5t
Circunfercnce o a Citcle-A s 1 times perimeterofa
e ncete it 1 Y
square, Arca of the square i 104wy o Wbt B W8 i whichi 28 s
e s i e | 1 Hamam st 6 ikt et B e =
radius of the Circle-A? ing.
1385 30, m. @) 15659 em. ey
358 . cm. @ 6163 cm. !

(5) None of these: 5




T8 Whose bodyweght s scond highest among he five | 4. What s the average mumber e of enpioes in
o A Vi S, o and P | Account, Ramision a” Rescuet e
" e gt of A Sur and Viwy s kg | gy
werago weight of Raju and Pratp is 72 kg | (131903 Qe
e DL kgand Vinsyisds | (31786 @ 1734
| ) Noneorthese
1L Averago weight of Arun, S VinayandRajvis | 45, What i the ciffrmce bewen the ol e of
Vo e ol B 8 O | iy IR and Admission
Vinay is 46 g, Al of them, h-vemﬂeum T | g md the toal mmbes of o
5 What i the respective i betoeen the leghofa | e o g o G gt
stnle el s 2
the sare 576 s cmand hearaof e, (3 200 32004
el o (5 None orthese
1L Dot vt s et | Sy @60 : Sudy he able careuly 10
80. Whatis the smaller angle ofaparalelogram 5 e i
L 3:5c4and Number of Research papers and Articles
he large angl ofth paraieogram s 34°
I Large gl of e paraclogra s 3 mor |
Directions (515 Sy theollving i har
anmsrmzrolhwm;(qunv |
wis dtivuion tempiones
unlx eparmnt of e
Tatalnumber of Employecs - 12600
Percentagewse dstiioy of Employess iyl
g, How much more approsimate percenng of the
| number o Research papers thar v Pubisied by
esa in Educon a5 the mumber of
| Resourh papes that were pablished by iy o
Edutorms ?
ms2 @n
o152 @1
81 Numberofcmployeesin e gt o csemic | ()47
o Eoxiately ha pren more tha he | 87, Wht i i diffene bewoen h sl s of
o oy i i Rescarch papes pulished by Anand, Viay and Nects
@39 @29 || gt Educonsnd the st b et
an @19 | ponlted by Mokan, N ad Kot rogte
@iz
82. 1630 percent o the mumber o oemplyes ofecarh e @
depariment s females. Then what i the b mmber of | (932 @ %
male cmployces n he rescarch depar ) Noneofthese
1343 @ 1232 | 5 e et i g b of s
O @ 1242 apers and Arile together i
5)Noneofthese (1) Anand Vi
- Nunber of enpioyecs Examiaion deprmert | () @ Mohan
st prsenage of the tfal mumber of | () Nid
ooy i e e Academic | 89, What is the average mumber of Research papers
ais together by all i cilas st o
e @6 o @15
@t @ss @1s

@51 . Rt i




e e e e

90 Tul b of Resuch ppr nd Al @) 11139
together published by Mohz irack  i§ (S)Nmem'm
iy o L T e ot e
NewEm? \ (280 &
R @ oG B
i fo et
(O Directions 96-100 : Study the information carefully 10

Dirctions 9195 + Sudy the follming. groh
Garefully 0 answer he questions that follo

e the guestions hat olows
 school there are total 120 staff mernbers and 800

i five different cricket matches \ "‘;"':‘,‘;i il oy
s b O L etk e o
P — e 15 prcent s g, Twenty prcentof the

st ek i, R i
|t oot
o mn | i of bow e sk ony i Remaining
H Enghod an ek bot i nd Exl anid of
s b b P oot 0

S oo of sy il i fomle
- 9. Whn u the difference between the number of boys

s s s ot i s Engieh o
o i o ek bt
e sm.zmmmymm s
" e o
1 Tt e o o vt 1t e
togciiée is' sppraximately wihat petcctiags o ot iber of girls (student) is what percentage of
s oo o e | 7 fmﬂmmm et e iy
toe 1 (2) 3
me @18 e e
@ 24 o ottoas
{
92, In which match is the difference between the runs. o W’“‘ s :;::‘:’:"f“"“““‘m'"‘;“’"‘"::
(V2 (i o1z
G 18 @
frifeme (S one ofthese
i | 9. Wt e repetiv i tcenhe ol
93, In which s an i ol rid byt s of teachers and the number of boys (student) who can
an:mn m;mher third highest/lowest ? speak Hindi only ?
s @ s .
(3)13:56 @ 11:54

(5)None of these
100, What is the total number of male administraive
official, female teachers and gils (student) who can

a4, o o respctive o beween the s sorsd - speak B
by India in Match-S, Austalia in e and | (D128 @us
England in Match2? ‘ 3127 @n1
1137 @7 (5)None of these



o T — Disctlons (111119 Sy he ollovig nfomation

433215433214483213433212 e
Wi )2 | “new banking systems” is coded as “ss tp na,
@s “offcer in unform” i coded s “or mu at".

102 Conider e pule b N | “new bank officer” i coded as or bk na” and

Cisolderthan | coded s “blcat 5™,
b |, K" stand for ?

- are older the | (1)new (2) systems.
Doy Amib @ onlyEBaatA Goifce G
@OnlyAmdE (4 OnyEand B () Noncothee
(5)None ofthese || 112, What will he code *ss mu stand for ?

10570 B 1 oMot of o Pl 3 | (leskingoffer @) sowuniom
metes Wetof ot . o D i  meres Souh of | (5 atormbanane (5 oy
ointC. PoitEs et B of et D I whicn | gt kg
e oo e Wi ot s | || 113, How witt “new office” be coded 2
10 poin B 7 (Dorm @ tpra
WEast @) South East et @wor
() Nort-East @ Soun &

(5) None of these | na. Hawmu«mk..:ncmn uniform” be coded ?

104,10 8 row of childen fcing porth, A stands 151h from b ator o
e e
between A and B i 7h from rght. What Sbkss
b o e sandng e o 115 Wit i s bt e
hat ) wudymmnnga o At
@1 45) R these "2 @m None of these

105, the father of Q. B has only wo children. Qisthe |°  Dyrecions (116:120) - Eacr- of follving

broler of R, R is the Gughes of P A
g o o . How 145 | 2
slaed 007 Have 1o deide whethe the s provided
o @ Sonindaw [lame s i e s s R
i Brotiercin-law. ‘both the statements and :
e (1 e o n St v
el il e
i e i cmn 1 e
o e

questions below consists of a_ question and

ot
(5)None of hese
Directions (106-110) : In cach of these questions
relationship between different elements is shown in |
e statements. |
The s llovedby o comhisions.

e s ol ot i (i o)1 i S S

5

e are
| Dot sufficient fo answer the question

Giveanswe ) e data in e Sement L lone
st lone ar suliien o
answer the questo

Give answer ()1 the dat n both the Statements |
‘ ndl e b0t s
Give answer m(r e M. in both the Statements 1
[ —

ety




. Consider three friends

@aq

B and C @x
profesions doco, wchict and. enginer (i | (W
necessarly n the ‘samo_ordr). Who s 2 doctor | 124 Who amongst the  following are immediae
amongst these th neighbours of S?
e i DTk @) QandP
1L Either A or Bisadoctor. ither A or C isa doctor, @) () Rand P

117, How many females are there in the family of four 45\Nan=unh=u
people (P, Q, Rand

L s the father of S. § isthe sister of Q
1L R the mother of Q.
118. Wi s he code for“wriing pape”
Read s paper” s i a7 Thiking and
Fa i
with pen” s writen as “453", "Paper and
plt s st o 129
119, A, B, C, D and E are siting in @ stright line facing.
Nort Wi hidfrom ight nd o e ?

Immh enon fom e right oo e ine?
@

G and H are sitting

®
g

+ Elis an immelist aeghbous of boh B and .

1556 s e o b &
Neithr o Dsitt oy o the exrne ot

120,0n i da of the s week Nel's bithday?

P il it o
mnm nor G is an immediat neighbour of B,
ly e person it between C and D.
126. wm o e Tollovig s . inmedie

1 e st L Ay

s on 2 day afler Tucsday, bu before Frday ofs ,,J,;nmm m,b

same weck.
Kiran cortetly remembers that Neha's birthday is
ona day after Monday, but before Thursday of the
same week.

Directions  (121-125) & Swdy the following.
information carcfuly and answer thegiven questions.
Seven people P, Q. R, S, T, W ting in &

T |

1277

e ey
related 0 E.
following s H related to ollowing the same pattem?
G @A GF
6B

gt e fciog North,nt necssaly i he same

s cne o he e s f e e,
0 i

125,
of A
(1)Second t the left of H
DmoetiueioiolC

s e et o X
Qsits to the immedite Jft of W.

o et i
() T hecaiol

1
121,10l h pople ae made (o i i alpabetal order |

from right o lef,th posiions of how many people |
nged ?

willremain |
(1 Five @om Sl
&) None

B e s e
(1) Four @) Five @ T
@ 0ne (5) None

5 Fou of e i v ks 4 crti

sed on the informa

position of D with respect o the position

of
(1) Third 0 the le
(3) Imimedinte right
(5)Second o the et
30 Whic o the fllwig s e vihreect o given
T —
{10ty o eople it between D and B
(2) A is an immediate neighbour of B
(3)Csis thirdto ef of H

(2) Second o the right
(3) Fourth to the let

T g sl ey
group?

ms @r

(5) None s tru
Directions (131-133) : Four of the following five are
alike in a certain way.(based on the position of




aphabets in the Englsh aiphabercl seres) m\ lagmny /.,uom from the given statements

Sence form a group. Whih i he one h commonty known fcts

elng g ko, ...,Wm,cn.., o s
131 (DK @uvxs Give answer 2 usion 1 follows

@ FGID Give answer () .f..m i ce A
o
Ancw studymaterials. conclusion 11 follows

5 Nucoeer O answes ()i both conclusion and conclusion
133. (1) DEL (@ FGM () BCE g S

B fohils 134, Statements : No ‘bank is a school. Some schools are

Dircctions 134-138) : In each quesion’ group of s

ements followed by

seen o be at
and then decide which af

the given conclusions

Some,collges e definiely not
ools.

AT ke beng solges 8 8
possbiliy



135. Statements : Bk e ke | 148 How many peole ssord more. . E in the

Somionins’ LA Wi e mN @one mm
1L AT rolleys ar baskes () Thiee lore
156 St Al s s et A g | 14 wm o e Slovis sy S £1%
ar plants. No plant s
Conclusions : LAIl fruits are plants tlIC & Bitecc 813)5
1 No oot is a veetable =
i Con e | Wi of e ttowing Pereeings ey comtly
sclaseis ] pe
et @) % B 81%
138, taements :Somecalulors e pones. Nophone | (3)65% g niS)
Sy irections e following information
Conclusions : l?‘vuca]n\lmnr isan raser eyl v A
L lolators are definitly. not Fight people are sitting in two parallel rows
contining our peopl cack, n such 3 ay tht here
Dicion 13- m> e e ol formaon |7 Sl s b, S pront o
y and answer the questions whih ol
RS, T [ e u{dgr) and all of them are facing South. In
builing g s oo numberedone 0 s (| 75
o foris e the same crd)ad il f thr e fcing Nt
Zand 1o snd e tpmos ot mamberch ) N e ——
v o0 e ovenmunbersd o, Ony v pp mcmbn ma 101 row faces” another menber of the
s betwsen th Toors o wiich Qand V e Sles | o
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